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Test Center Name Arwachin Bharti Bhawan Sr.Sec School

Test Date 17/02/2020
Test Time 4:30 PM - 6:45 PM
Subject Customer Relations Assistant RNE10
«&
Section : General Awareness ‘
Q.1 Which amendment act of the Indian Constitution granted special status to Delhi?
Ans X" 1.60th Amendment 0

x 2. 42nd Amendment o
J 3. 69th Amendment o

x 4. 55th Amendment 0
Question ID : 149986368

&o Status : Not Answered

Chosen Option : --

Q.2 Where is the Iron Pillar is situated?

Ans  of 1. Mehrauli, Delhi &o
2

x 2. Bhopal, Madhya Pradesh

x 3. Amaravati, Andhra Prade

Question ID : 149986363
Status : Not Answered
Chosen Option : --

Q.3 Which of the following are Olympic sports?
I. Archery
1l. Badminton
11l. Boxing

Ans X1 land |l
5 2. 1and i
o 3.1 1and i
/X 4.01and

Question ID : 149986371
Status : Answered
Chosen Option : 3
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Q.4 Which of the following statement(s) regarding the architectural splendour of Hampi is/are
correct?
I. It is located in the Krishna Tungbhradra Basin.
Il. No cementing agent was used in the construction of the walls of it.

Ans  of 1 Bothlandl

75 2.0nlyl
/5 3.0nlyl

x 4. Neither I nor Il

Question ID : 149986365
Status : Answered
Chosen Option: 3

Q.5 Who was the writer of Jane Eyre?

Ans x 1. Jane Austen
x 2. Rudyard Kipling "o
“ 3. Charlotte Bronte e‘

75 4. Thomas Hardy e

Question ID : 149986364
Status : Not Answered

Chosen Option : --

Q.6 festival is associated with Telangana state. e
Ans X" 1 Wangala

( 2. Both Bonalu and Bathukamma &
x 3. Bonalu %
x 4. Bathukamma :
& Question ID : 149986370
e Status : Not Answered

‘ Chosen Option : --

Q.7 Interms of crops, what is the full form of HYV?
Ans X" 1. High Yieldin

o 2. High Viel riety
x 3. Hot Yielding Variety

X 4. Hyper Yielding Variety

Question ID : 149986367
Status : Answered
Chosen Option : 2
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Q.8 Who is the author of the book “Being Gandhi”?
Ans X" 1. Vikram Seth

« 2. Paro Anand
x 3. Arundhati Roy

X 4. Chetan Bhagat

Question ID : 149986372
Status : Answered
Chosen Option : 1

Q.9 Which country is the largest producer of Bauxite in the world?
Ans x 1. Britain

X 2.UsA

W 3. Australia ,\o
\d

x 4. Antarctica

q;n ID : 149986366

Status : Not Answered

&en Option : --

Q.10 Which of the following pair is correct?
I. Monopoly — One Buyer
1. Oligopoly — Few Buyers
Ans 1 Only| e
X 2.0nly 1l &o
( 3. Neither | nor Il
75 4.Bothland i 6
\0 Question ID : 149986369

Status : Answered

e Chosen Option : 4

Section : Current Affairs

Q.1 Word ‘Liberalism’ origi m which language?
Ans x 1. Spanish

x 2. Persian

x 3. French

o 2. Latin

Question ID : 149986373
Status : Answered
Chosen Option : 4
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Q.2 Who has been honoured with the ‘Icon of Golden Jubilee Award’ at International film festival
of India 2019?

Ans X" 1. Amitabh Bacchan
#< 2. shahrukh khan
x 3. Rishi Kapoor
“ 4. Rajnikanth

Question ID : 149986382
Status : Not Answered
Chosen Option : --

Q.3 Which of the following is/are an instrument of RBI's monetary policy?
I. LAF
1. MSF
lll. Bank Rate

Ans  of 1 1 11and il Py o
75 2. lland I e‘\

/X 3.1andll
75 4.1and il e
Question ID : 149986379

o Status : Not Answered
Chosen Option : --

Q.4 Which grains are also known as Coarse grains?
Ans x 1. Wheat &o
W 2 Millets %
X 3. Rice b
x 4. Maize 0
X

Question ID : 149986376
Status : Answered
Chosen Option : 2

Q.5 Which of the following
I. Bihar — Jhumeri D

tate dance is/are NOT correct?

lll. Kerala — Mohi
Ans  of 1 Only |l

/5 2.Bothland Il
75 3.Bothlland il

/5 4.0nlyl

Question ID : 149986380
Status : Answered
Chosen Option : 1
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Q.6 Which day was known as the “Direct Action Day"?

Ans  off 116 August 1946
x 2. 26 January 1947
75 3.16 January 1947

75 4.26 August 1946

Question ID : 149986374
Status : Not Answered
Chosen Option : --

Q.7 In which state of India Rabi crops are grown?
I. Punjab
Il. Himachal Pradesh

o 1.Bothiand
/5 2.0nlyll
75 3.0nly|

x 4. Neither I nor Il

Ans

*
o

estion ID : 149986377
Status : Answered

OChosen Option: 1

Q.8 In which year was Kabaddi included as a medal event in Asian Games?

o 1.1990

Ans

X 2.1992 o
/X 3.1994 &
#< 4.1998 6%

Question ID : 149986381
Status : Not Answered
Chosen Option : --

Q.9 Who was the first governor o ssachusetts bay colony in new England?

Ans x 1. Thomas Hardy

x 2. Ben Broad

« 3. John p

75 4. M.W. Ridley

Question ID : 149986375
Status : Not Answered
Chosen Option : --
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Q.10 In the preamble of the constitution ‘Socialist’ term was added by which amendment act?
Ans X" 1 68th

K 2.75th
X 3.36th
o 4. 42nd

Question ID : 149986378
Status : Answered
Chosen Option : 4

Section : Computer Awareness

Q.1

Ans X 1. Microsoft Paint
o2 '\o
~< 3 eO
« 4 Spreadsheet

d

Question ID: 149986388
Status : Answered

Chosen Option : 2

9
Ans x 1.

Question ID : 149986391
Status : Answered

g X 3 Chosen Option: 2
Q.3
Ans x 1.

Question ID : 149986389
Status : Answered
Chosen Option : 4
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Q.4
Ans “ 1.
X2
X 3.
X
Question ID : 149986386
Status : Answered
Chosen Option : 2
Q.5
Ans X 1.
X2
xs X g
v 3 ‘
4
@?n ID : 149986383
Status : Answered
en Option: 1
Q.6

ans 1. 0

b Question ID : 149986384
l 0 Status : Not Answered

Chosen Option : --
Q.7 ‘
Ans x 1.

Question ID : 149986387
Status : Not Answered
Chosen Option : --
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Q.8
Ans x 1.
X2
X 3.
v
Question ID : 149986385
Status : Answered
Chosen Option : 4
Q.9
Ans x 1.
X2
<3 pS o
v ‘
4
e;n ID : 149986390
Status : Not Answered
en Option : --
Q.10

Ans x1 0

b Question ID : 149986392
l 0 Status : Answered

Chosen Option : 1

Section : Logical Ability & Reasoning ‘
Q.1 Raghu is at point A. He wal to the North and then turns to his left. He walks 4 km in

this direction. He turns | in and walks 6 km. If he wishes to reach point A again. In
which direction shoul alking and what direction should he be walking and what
distance will he have

r?

X 2. South-East, 5 km
x 3. North-East, 4 km

« 4. North-East, 5 km

Question ID : 149986420
Status : Answered
Chosen Option : 4
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Q.2 Select the word-pair in which the two words we related in the same way as are the two
words in the given word-pair.

Surgeon : Scalpel
Ans X" 1. Doctor : Hospital

x 2. Tailor : Shirt
x 3. Navy : Lieutenant

« 4. Sculptor : Chisel

Question ID : 149986401
Status : Answered
Chosen Option : 4

Q.3 In the following question, select the odd number pair from the given alternatives.
Ans X" 1.2853-45
o,
W 2.3981 - 50 \
/X 3.3297-62 e‘

/X 4.6102-16 e

Question ID : 149986414
Status : Not Answered

Chosen Option : --

Q.4 P's father is Q's son. M is the paternal uncle of P and N is the brothw. ow is N related
to M?

Ans x . Nephew o
“ ; Snile &
X 3. Brother b%
x 4. Cousin

O

e Question ID : 149986393
Status : Answered

*

Chosen Option: 1

Q.5 In the following question; t the odd word from the given alternatives.
Ans « 1. Colocasia

x 2. Carda
x 3. Cumin

x 4. Cinnamon

Question ID : 149986410
Status : Answered
Chosen Option: 3
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Q.6 Dhanesh walks 50 m east and then he turns to his right and walks 30 metres. Now, in which
is he from his starting point?

Ans X" 1. North-east
x 2. North-west
« 3. South-east
x 4. South-west

Question ID : 149986419
Status : Answered
Chosen Option : 3

Q.7 In the following question, select the odd number from the given alternatives.

Ans  of 127

K2,

/X 3.53 ’\o
L 4

75 447

ion ID : 149986412
Status : Answered
hosen Option : 4

Q.8 Pointing to a woman in a photograph, a man says “She is the mother-in-I wife of
the father of my only son”. How is the woman related to the man?

Ans X" 1. Daughter-in-law
X 2. Daughter &o
« 3. Mother
75 4. wife b
&0 Question ID : 149986394

Status : Answered

e Chosen Option: 3

Q.9 Select the related number fr ven alternatives.

49:130::78:?

Ans X" 1105
W 230
/X 3.140
/X 4.65

Question ID : 149986397
Status : Answered
Chosen Option : 1
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Q.10 Select the related number from the given alternatives.

82:36::91:?

Ans X" 137
W 264
/X 3.169
/X 4.100

Question ID : 149986396
Status : Not Answered
Chosen Option : --

Comprehension:
These questions are based on the following information.

Each of seven girls — A, B, C, D, E, F and G wears a different colour cap on a different day of a P o
week starting from Sunday.

The girl who wears a Pink cap wears it on Thursday. White cap is not worn on either Sunday or ‘
Saturday. A wears Orange cap exactly three days after the Blue cap was worn by E. The one
who wears Red cap wears it on Wednesday. Yellow cap was worn immediately before the de

on which White cap was worn. B wears Green cap. F wears Pink cap. E wears a cap bef
D does not wear the cap on Monday.

SubQuestion No : 11 o

Q.11 On which day does the girl, who wears Blue coloured cap wear it? o

Ans 3" 1. Monday 0
JZ‘ Tuesday e

x 3. Friday

X 4. Sunday a{&
b Question ID : 149986405
o Status : Answered
& Chosen Option : 2

&

These questions are based on t wing information.

Comprehension:

Each of seven girls - A, B E, F and G wears a different colour cap on a different day of a
week starting from Su

The girl who wear cap wears it on Thursday. White cap is not worn on either Sunday or
Saturday. A wea nge cap exactly three days after the Blue cap was worn by E. The one
who wears Red cap wears it on Wednesday. Yellow cap was worn immediately before the day
on which White cap was worn. B wears Green cap. F wears Pink cap. E wears a cap before C.
D does not wear the cap on Monday.

SubQuestion No : 12
Q.12 Which of the following statement is / are true?

Ans x 1. More than one of the given options
x 2. A wears Orange cap on Friday.
X 3. G wears Yellow cap.

( 4. D wears Yellow cap on Sunday.

Question ID : 149986406
Status : Answered
Chosen Option: 1
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Comprehension:
These questions are based on the following information.

Each of seven girls - A, B, C, D, E, F and G wears a different colour cap on a different day of a
week starting from Sunday.

The girl who wears a Pink cap wears it on Thursday. White cap is not worn on either Sunday or
Saturday. A wears Orange cap exactly three days after the Blue cap was worn by E. The one
who wears Red cap wears it on Wednesday. Yellow cap was worn immediately before the day
on which White cap was worn. B wears Green cap. F wears Pink cap. E wears a cap before C.
D does not wear the cap on Monday.

SubQuestion No : 13
Q.13 Who wears Red cap?

Ans  of 1 C
K 2D
X 3.6

75 4.Either (C) or (D) e o
Question |D'» 149986404
s : Answered
Ch@ption 01
Q.14 Select the option that is most like the given set. o

(23, 136, 45) o
Ans X" 1 (17,50,33) 0
o 2.(19,96,29) e

75 3.(29,78,11)

X 4.(31,126,37) a{&
b Question ID : 149986399
0 Status : Not Answered
& Chosen Option : --

Q.15 Select the number pair that is anal os the given number pair.

13:338
Ans X" 1.9:729

/X 2.15:225
/X 3.5:52
o 48:128

Question ID : 149986398
Status : Answered
Chosen Option : 4
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Q.16 In the following question, select the odd word from the given alternatives.
Ans X 1 Slate

( 2. Cobalt
x 3. Basalt
x 4. Gneiss

Question ID : 149986407
Status : Answered
Chosen Option : 2

Q.17 The following four words from the main three are similar to each other in a specific context
and one is uneven. Choose the uneven word.

Ans " 1 Bam
x 2. Stables
. R N
“ 3. Habitat \
\ 4

X 4. Den

ion ID : 149986409
Status : Answered
hosen Option: 3

Q.18 Piyush is the son of Jalad’s father’s sister. Vikram is the son of Urmila, w| mother of
Sonu and grandmother of Jalad. Pintu is the father of Kali and grandfa iyush. Urmila
is the wife of Pintu. How is Sonu’s wife related to Kali?

Ans X 1 Sister

“ 2. Sister-in-law !&:
Question ID : 149986395

x 3. Niece
x 4. Daughter-in-law
Status : Answered

‘ Chosen Option : 2

Q.19 Select the option that is rel he third word in the same way as the second pair is
related to the first pair.

Manipur : Imphal :; ram:?
Ans J 1. Aizawl

x 2. Shillong
x 3. Gangtok

x 4. Kohima

Question ID : 149986400
Status : Answered
Chosen Option : 1
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Q.20 Find the odd group of numbers from the given alternatives.
Ans X" 1.18,3,36

W 222118

/X 3.24,3,64

/X 4.12,2,36

Question ID : 149986413
Status : Answered
Chosen Option : 4

Q.21 If ‘CAR’ is 484, then ‘SCOOTER'= ?
Ans  of 1 0025

75 2.95

#< 3.1095 "o
®

/X 4.88

q;n ID : 149986415

Status : Answered

@en Option : 4

Q.22 In a certain code language, 'ROAMING' is written as 'APRNGOI'. How would 'PLATEAU’ be
written in the same code language?

Ans X" 1 AMPTUBE
75 2. ALPUUAE a
/< 3. PMAUEBU

O
G
o 4 AMPUUBE 6%
O

Question ID : 149986418
Status : Answered
Chosen Option : 4

Q.23 Find the missing term.

Ans X142
/X 2.45
o 3.40
/X 4.36

Question ID : 149986421
Status : Not Answered
Chosen Option : --
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Q.24 Find the missing term.

Ans (1.0
X 2w
53U
X oav

Question ID : 149986422
Status : Answered
Chosen Option : 1

Q.25 Three of the following four words are alike in a certain way and one is different. Find the
odd one out.

Ans « 1. Gardening

x 2. Carpenter @, o
x 3. Tailor \

| \ 4
x 4. Blacksmith

estion ID : 149986408

o Status : Answered
Chosen Option : 1

Q.26 In a certain code IMPRESSIVE is written as 28 and MATURE is written ow is
ENVIRONMENT written in that code?

Ans X 133

| O
K 2.25 &
Ky

/X 3.54
o 434
Question ID : 149986416

e Status : Answered

‘ Chosen Option: 1
Q.27 Select the option that is rel he third word in the same way as the second pair is
related to the first pair.
Human mind : Psy y :: Insects : ?

Ans x 1. Ornitho
x 2. Mythology
X 3. Pathology
( 4. Entomology

Question ID : 149986402
Status : Answered
Chosen Option : 4
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Q.28 Three of the following four numbers are alike in a certain way and one is different. Identify
the different one.

Ans «134
X 2.16
K 364
X 48

Question ID : 149986411
Status : Answered
Chosen Option : 1

Q.29 In a certain code 'BORN' is written as 'APQON' and 'LACK' is written as 'KBBLK'. How is 'GRID’
written in that code ?

Ans  of 1 FSHED

25 2.FQHCD Py o
3. FSHCD ‘
< .
X 4. HSJED
estion ID : 149986417

o Status : Answered
Chosen Option : 1

Q.30 Find the missing term.

Ans o 1 226 oe
5 2.205 %‘

X 3.215
7 4.295 6

Question ID : 149986423
Status : Not Answered
‘ Chosen Option : --

Section : Quantitative Aptitud@
Q.1
Ans X 1.

Question ID : 149986425
Status : Answered
Chosen Option : 3
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Q.2
Ans X 1.
X2
v
X
Question ID : 149986440
Status : Not Answered
Chosen Option : --
Q.3
Ans « 1.
X2
X3 . o
X 4 ‘
4
@gn ID : 149986448
Status : Answered
en Option: 1
Q.4

Ans ';(1: 0

b Question ID : 149986429
| 0 Status : Not Answered

Chosen Option : --
Q.5 ‘
Ans ( 1.

Question ID : 149986446
Status : Answered
Chosen Option : 1
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Q.6
Ans X 1.
v
X 3.
~oa
Question ID : 149986435
Status : Not Answered
Chosen Option : --
Q.7
Ans X 1.
X2
v 5} P o
x4 S\
—-
q nID : 149986433
Status : Answered
en Option: 3
Q.8

ans X1 0

b Question ID : 149986442
0 Status : Answered
& Chosen Option : 4

Q.9
Ans x 1. &0

Question ID : 149986439
Status : Not Answered
Chosen Option : --
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Q.10
Ans X 1.
X2
X3
v
Question ID : 149986427
Status : Answered
Chosen Option : 4
Q.11
Ans x 1.
v
Xs R N\
X 4 ‘
—-
@ nID: 149986431
Status : Not Answered
en Option : --
Q.12

Ans *;(1: 0

b Question ID : 149986450
0 Status : Answered
& Chosen Option: 3

Q.13
Ans X 1. &‘

Question ID : 149986434
Status : Not Answered
Chosen Option : --
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Q.14
Ans X 1.
X2
Vs
& oa
Question ID : 149986437
Status : Not Answered
Chosen Option : --
Q.15
Ans “ 1.
X2
Xs R N\
x4 N\
4
@;n ID : 149986443
Status : Answered
en Option: 1
Q.16

s X1 0

b Question ID : 149986453
0 Status : Not Answered
& Chosen Option : --

Q.17
Ans x 1. &‘

Question ID : 149986424
Status : Answered
Chosen Option : 2
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Q.18
Ans “ 1.
X2
X 3.
~oa
Question ID : 149986430
Status : Not Answered
Chosen Option : --
Q.19
Ans « 1.
X2
X 4 ‘
—
@ nID : 149986445
Status : Answered
en Option: 2
Q.20

Ans 1. 0

b Question ID : 149986447
0 Status : Not Answered
& Chosen Option : --

Q.21
Ans « 1 &‘

Question ID : 149986449
Status : Not Answered
Chosen Option : --
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Q.22
Ans ( 1.
X2
X 3.
X 4
Question ID : 149986426
Status : Not Answered
Chosen Option : --
Q.23
Ans x 1.
X2
x4 ‘
4
@gn ID : 149986452
Status : Not Answered
en Option : --
Q.24

Ans 4’1, 0

b Question ID : 149986438
0 Status : Answered
& Chosen Option : 1

Q.25
Ans  of 1 &0

Question ID : 149986436
Status : Not Answered
Chosen Option : --
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Q.26
Ans X 1.
X2
X 3.
VL
Question ID : 149986451
Status : Not Answered
Chosen Option : --
Q.27
Ans x 1.
v
&3 @, o
X 4 ‘
—
@ nID : 149986432
Status : Not Answered
en Option : --
Q.28

Ans K1 0

b Question ID : 149986428
0 Status : Not Answered
& Chosen Option : --

Q.29
Ans x 1. &‘

Question ID : 149986441
Status : Not Answered
Chosen Option : --
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Q.30

Ans ( 1.
&2
X 3.
~oa

Question ID : 149986444
Status : Not Answered
Chosen Option : --

Section : General Science

Q.1

Ans §l "o

uestion ID : 149986454

o Status : Answered

Chosen Option : 3

Q.2
e X 9

&: Question ID : 149986473

Status : Answered
Chosen Option : 2

Q3
Ans x 1. &

Question ID : 149986457
Status : Answered
Chosen Option : 2
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Q.4
Ans X 1.
xe
X 3.
v 3
Question ID : 149986471
Status : Answered
Chosen Option : 4
Q.5
Ans X 1.
v
xs X g
X 4 ‘
—-
@ n 1D : 149986459
Status : Answered
en Option: 3
Q.6

s X1 0

b Question ID : 149986463
0 Status : Answered
& Chosen Option : 2

Q.7
Ans « 1. & ‘

Question ID : 149986477
Status : Answered
Chosen Option: 3
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Q.8
Ans X 1.
V2
X 3.
X
Question ID : 149986468
Status : Answered
Chosen Option : 2
Q.9
Ans X 1.
v
xs X g
x4 S\
—
@ nID : 149986461
Status : Answered
en Option: 2
Q.10

s X1 0

b Question ID : 149986478
0 Status : Not Answered
& Chosen Option : --

Q.11
Ans « 1. &‘

Question ID : 149986464
Status : Answered
Chosen Option : 1
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Q.12
Ans X 1.
X2
v
X
Question ID : 149986462
Status : Answered
Chosen Option: 3
Q.13
Ans X 1.
X2
v X g
X 4 ‘
4
@?n ID : 149986466
Status : Not Answered
en Option : --
Q.14

Ans ';(1: 0

6 Question ID : 149986469
| 0 Status : Answered

Chosen Option : 1
Q.15 P
ms XK 43

Question ID : 149986458
Status : Answered
Chosen Option : 2
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Q.16
Ans X 1.
X2
X 3.
v 3
Question ID : 149986460
Status : Answered
Chosen Option : 4
Q.17
Ans X 1.
xe
v ) P o
x4 S\
4
@;n ID : 149986470
Status : Not Answered
en Option : --
Q.18

Ans \(1. 0

b Question ID : 149986455
l 0 Status : Answered

Chosen Option : 3
Q.19 ‘
Ans  of 1. &

Question ID : 149986465
Status : Answered
Chosen Option : 2
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Q.20
Ans X 1.
X2
X3
v
Question ID : 149986472
Status : Not Answered
Chosen Option : --
Q.21
Ans « 1.
X2
X Py o
X a ‘
L 4
@on ID : 149986476
Status : Answered
en Option: 1
Q.22

Ans \(1‘ 0

b Question ID : 149986467
l 0 Status : Answered

Chosen Option : 1
Q.23 ‘
Ans  of 1. &

Question ID : 149986474
Status : Not Answered
Chosen Option : --
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Q.24
Ans ( 1.
&2
X 3.
~oa
Question ID : 149986456
Status : Answered
Chosen Option : 1
Q.25
Ans ( 1.
X 2
xs X N
. N
x *

@;n ID : 149986475

Status : Answered
E en Option: 1

Section : Values & Ethics
4
Ans ( 1. e
x- O
X3 §
~ o4 b
&0 Question ID : 149986481

Status : Answered
Chosen Option : 1

Question ID : 149986482
Status : Answered
Chosen Option : 2
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Q.3
Ans “ 1.
~ 2
~ 3
~oa
Question ID : 149986479
Status : Not Answered
Chosen Option : --
Q.4
Ans ( 1.
~ 2
X 3. Py o
. )
X L 4

@;n ID : 149986483

Status : Not Answered
en Option : --

Q.5

Ans x1: o

b Question ID : 149986480
0 Status : Answered
& Chosen Option : 2

Section : General English ;
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Comprehension:
Read the following passage carefully and answer the questions that follow.

Water covers more than two-thirds of the planet, largely in the form of oceans, seas, lakes and
ice. The majority of this water is salty and cannot be used for human consumption or for
irrigating plants.

Less than one per cent of the earth’s water is unsalty and available for human consumption.
In theory, this amount could support four times the present human population, but in reality
water supplies are spread unevenly around the world. About two billion people in 80 countries
live in areas of chronic water shortage - a situation that will worsen as human and animal
populations grow. Particularly affected are most of Africa, the Middle East, north Asia and
Australia. Many countries are draining water from aquifers (an underground level of earth or
porous rock which contains water) faster than those aquifers can replenish themselves.

Due to population growth alone, water demand is expected to double in more than half of the
world’s countries. Most of this increasing demand is for irrigation and industrial uses. About
69 per cent of the world’s fresh water goes for irrigation, about 23 per cent for industry and 8
per cent for household use. In many arid and semi-arid areas, population growth has raised
food demand to a level that can be met only through irrigation. Some countries lie within
climatic zones most prone to drought and other water problems. Unfortunately, some of these
countries have high rates of population growth. For example, the populations of Kenya,
Ethiopia and Iran may well double within 25 years, yet the amount of water available to these
countries will remain the same.

Even with efficient irrigation and other water-use methods, many countries in the Middle East
and Africa may not be able to meet their water needs by 2025 if population growth continues
at present levels. By that date, some believe that as many as 25 developing countries may
have reached the water barrier, which is the minimum amount of water needed by each
person, assuming access to advanced technology to maximize water conservation{Another
24 countries may experience seasonal shortages and problems with water quality.

SubQuestion No : 1
Q.1 Which of the following statements is NOT TRUE according to the passage?

Ans K 1. Water bodies like oceans, seas, lakes etc. constitute more than two-thirds of the
earth’s surface.

K 2. Scarcity of water is expected to reach alarming leyéls ingsome countries by the year
2025.

f 3. More water can be generated for human cgfiSUapti®h with the help of sophisticated
technology.

x 4. The amount of water will remain the same for countries like Ethiopia, Iran and Kenya,
even after 25 years when the populationdids,dotbled.

Question ID : 149986487
Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage carefully and answer the questions that follow.

Water covers more than two-thirds of the planet, largely in the form of oceans, seas, lakes and
ice. The majority of this water is salty and cannot be used for human consumption or for
irrigating plants.

Less than one per cent of the earth’s water is unsalty and available for human consumption.
In theory, this amount could support four times the present human population, but in reality
water supplies are spread unevenly around the world. About two billion people in 80 countries
live in areas of chronic water shortage - a situation that will worsen as human and animal
populations grow. Particularly affected are most of Africa, the Middle East, north Asia and
Australia. Many countries are draining water from aquifers (an underground level of earth or
porous rock which contains water) faster than those aquifers can replenish themselves.

Due to population growth alone, water demand is expected to double in more than half of the
world’s countries. Most of this increasing demand is for irrigation and industrial uses. About
69 per cent of the world’s fresh water goes for irrigation, about 23 per cent for industry and 8
per cent for household use. In many arid and semi-arid areas, population growth has raised
food demand to a level that can be met only through irrigation. Some countries lie within
climatic zones most prone to drought and other water problems. Unfortunately, some of these
countries have high rates of population growth. For example, the populations of Kenya,
Ethiopia and Iran may well double within 25 years, yet the amount of water available to these
countries will remain the same.

Even with efficient irrigation and other water-use methods, many countries in the Middle East
and Africa may not be able to meet their water needs by 2025 if population growth continues
at present levels. By that date, some believe that as many as 25 developing countries may
have reached the water barrier, which is the minimum amount of water needed by each
person, assuming access to advanced technology to maximize water conservationdAngther
24 countries may experience seasonal shortages and problems with water quality.

SubQuestion No : 2

Q.2 Which of the following is not one among those places which are expected to be worst
affected by chronic water shortage?

Ans \_f 1. Europe
25 2. Australia

/5 3. The Middle East

75 4. Africa

Question ID : 149986488
Status : Answered
Chosen Option : 1
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Comprehension:
Read the following passage carefully and answer the questions that follow.

Water covers more than two-thirds of the planet, largely in the form of oceans, seas, lakes and
ice. The majority of this water is salty and cannot be used for human consumption or for
irrigating plants.

Less than one per cent of the earth’s water is unsalty and available for human consumption.
In theory, this amount could support four times the present human population, but in reality
water supplies are spread unevenly around the world. About two billion people in 80 countries
live in areas of chronic water shortage - a situation that will worsen as human and animal
populations grow. Particularly affected are most of Africa, the Middle East, north Asia and
Australia. Many countries are draining water from aquifers (an underground level of earth or
porous rock which contains water) faster than those aquifers can replenish themselves.

Due to population growth alone, water demand is expected to double in more than half of the
world’s countries. Most of this increasing demand is for irrigation and industrial uses. About
69 per cent of the world'’s fresh water goes for irrigation, about 23 per cent for industry and 8
per cent for household use. In many arid and semi-arid areas, population growth has raised
food demand to a level that can be met only through irrigation. Some countries lie within
climatic zones most prone to drought and other water problems. Unfortunately, some of these
countries have high rates of population growth. For example, the populations of Kenya,
Ethiopia and Iran may well double within 25 years, yet the amount of water available to these
countries will remain the same.

Even with efficient irrigation and other water-use methods, many countries in the Middle East
and Africa may not be able to meet their water needs by 2025 if population growth continues
at present levels. By that date, some believe that as many as 25 developing countries may
have reached the water barrier, which is the minimum amount of water needed by each
person, assuming access to advanced technology to maximize water conservation{Another
24 countries may experience seasonal shortages and problems with water quality.
SubQuestion No : 3

Q.3 The main reason for the acute shortage of water is:
Ans X 1. drought.

x 2. draining of water from aquifers.
( 3. excessive population growth.

x 4. extremities of climate.

Question ID : 149986486
Status : Answered
Chosen Option : 3
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Comprehension:
Read the following passage carefully and answer the questions that follow.

Water covers more than two-thirds of the planet, largely in the form of oceans, seas, lakes and
ice. The majority of this water is salty and cannot be used for human consumption or for
irrigating plants.

Less than one per cent of the earth’s water is unsalty and available for human consumption.
In theory, this amount could support four times the present human population, but in reality
water supplies are spread unevenly around the world. About two billion people in 80 countries
live in areas of chronic water shortage - a situation that will worsen as human and animal
populations grow. Particularly affected are most of Africa, the Middle East, north Asia and
Australia. Many countries are draining water from aquifers (an underground level of earth or
porous rock which contains water) faster than those aquifers can replenish themselves.

Due to population growth alone, water demand is expected to double in more than half of the
world’s countries. Most of this increasing demand is for irrigation and industrial uses. About
69 per cent of the world’s fresh water goes for irrigation, about 23 per cent for industry and 8
per cent for household use. In many arid and semi-arid areas, population growth has raised
food demand to a level that can be met only through irrigation. Some countries lie within
climatic zones most prone to drought and other water problems. Unfortunately, some of these
countries have high rates of population growth. For example, the populations of Kenya,
Ethiopia and Iran may well double within 25 years, yet the amount of water available to these
countries will remain the same.

Even with efficient irrigation and other water-use methods, many countries in the Middle East
and Africa may not be able to meet their water needs by 2025 if population growth continues
at present levels. By that date, some believe that as many as 25 developing countries may
have reached the water barrier, which is the minimum amount of water needed by each
person, assuming access to advanced technology to maximize water conservation{Angther
24 countries may experience seasonal shortages and problems with water quality.
SubQuestion No : 4

Q.4 According to the author, the reason for the water shortage at the moment is due to:

Ans ( 1. Water supplies are spread unevenly around the world.
x 2. 23% to the industries
K 3. 69% water going for irrigation

x 4. Less than one percent of unsalty water thaticanisupport four times the present
human population

Question ID : 149986489
Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage carefully and answer the questions that follow.

Water covers more than two-thirds of the planet, largely in the form of oceans, seas, lakes and
ice. The majority of this water is salty and cannot be used for human consumption or for
irrigating plants.

Less than one per cent of the earth’s water is unsalty and available for human consumption.
In theory, this amount could support four times the present human population, but in reality
water supplies are spread unevenly around the world. About two billion people in 80 countries
live in areas of chronic water shortage - a situation that will worsen as human and animal
populations grow. Particularly affected are most of Africa, the Middle East, north Asia and
Australia. Many countries are draining water from aquifers (an underground level of earth or
porous rock which contains water) faster than those aquifers can replenish themselves.

Due to population growth alone, water demand is expected to double in more than half of the
world’s countries. Most of this increasing demand is for irrigation and industrial uses. About
69 per cent of the world’s fresh water goes for irrigation, about 23 per cent for industry and 8
per cent for household use. In many arid and semi-arid areas, population growth has raised
food demand to a level that can be met only through irrigation. Some countries lie within
climatic zones most prone to drought and other water problems. Unfortunately, some of these
countries have high rates of population growth. For example, the populations of Kenya,
Ethiopia and Iran may well double within 25 years, yet the amount of water available to these
countries will remain the same.

Even with efficient irrigation and other water-use methods, many countries in the Middle East
and Africa may not be able to meet their water needs by 2025 if population growth continues
at present levels. By that date, some believe that as many as 25 developing countries may
have reached the water barrier, which is the minimum amount of water needed by each
person, assuming access to advanced technology to maximize water conservation{Angther
24 countries may experience seasonal shortages and problems with water quality.

SubQuestion No : 5
Q.5 According to the passage, water barrier is:

Ans K 1. the amount of water required for irrigation purposes.
( 2. the least amount of water needed by a person.
K 3. the minimum amount of water wasted by a person.

x 4. an underground level of rock which contain§ water.

Question ID : 149986485
Status : Not Answered
Chosen Option : --

=
Q.6 Choose the most suitable alternative and mark it as your answer.

| prefer not to go.
Ans " 1. should

«2.wou|d
K 3.do
x 4. can

Question ID : 149986502
Status : Answered
Chosen Option : 2
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Q.7 In the given question select the word that has the similar or closest meaning to the given
word.

Ascend

Ans f 1. Soar

x 2. Plummet
/X 3.Dive
x 4. Drop

Question ID : 149986520
Status : Not Answered
Chosen Option : --

Q.8 Select the correct pair of homophones to fill in the blanks.
The communal speech of the leaders the mob to violence.
His work shows originalityand ________ .  / o
Ans X" 1 incite; incite \
x 2. insight ; insight
x 3. insight ; incite e

J 4. incite ; insight

Question ID : 149986525
Status : Answered
Chosen Option: 3

Q.9 In the given question select the word that has the similar o& eaning to the given
word.

Abdomen b
Ans X" 1 Worthless 0
< 2. callow &

x 3. Penniless

W 4 Belly L 4

Question ID : 149986522
Status : Answered
Chosen Option : 4

Q.10 A sentence has been broken into four parts with an error in one of the parts. Identify the
part that has an error.

My car has a habit/of spluttering occasionally/but it/seldom or ever stalls
Ans X" 1 butit

x 2. of spluttering occasionally
( 3. seldom or ever stalls.

x 4. My car has a habit

Question ID : 149986490
Status : Answered
Chosen Option : 3

visit this website studytosuccess.in




Join Telegram More Update Note: All previous year Exam paper provides

Q.11 In the statement below, a part of the sentence is highlighted. Out of the four options,
choose the one which best replaces the highlighted phrase.

We could not help admire his inventive genius.

Ans X" 1. noimprovement
J 2. could not help but
x 3. could not help to
x 4. could not but

Question ID : 149986536
Status : Answered
Chosen Option : 3

Q.12 In the following question, a sentence has been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one which best expresses the same sentence in

Passive/Active Voice? e o

The poor must be looked after by society.

Ans x 1. Society must looked after the poor. e’
J 2. Society must look after the poor. e
x 3. Society must be looked after the poor. 0
x 4. Society must have looked after the poor. o

Question ID : 149986516
Status : Answered
Chosen Option : 2

Q.13 Choose the best preposition in the given sentence.

The man strived ____ bigger riches. b
Ans x 1.0on

&

X 3. about
x 4. under 4

Question ID : 149986495
Status : Answered
Chosen Option : 2

Q.14 A sentence has been broken into four parts with an error in one of the parts. Identify the
part that has an error.

An important consideration to/be made/is how to early/reach the destination.

Ans X" 1. reach the destination.
x 2. be made
J 3. is how to early

x 4. An important consideration to

Question ID : 149986491
Status : Answered
Chosen Option : 3
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Q.15 In the following question, a sentence has been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one which best expresses the same sentence in
Passive/Active Voice?

One should keep one's promises.

Ans x 1. Promises should be kept by someone.
x 2. Once a promise should be kept.
x 3. One promise should be kept.

J 4. Ones Promises should be kept up by themselves.

Question ID : 149986514
Status : Answered
Chosen Option : 4

Q.16 In the following question, a sentence has been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one which best expresses the same sentence in
Passive/Active Voice? 0\

People in Egypt speak Arabic. ’
Ans x 1. Arabic was spoken by people in Egypt. e "’

J 2. Arabic is spoken by people in Egypt. 0

x 3. Arabic is being spoken by people in Egypt.
Question ID : 149986515
Status : Answered
o Chosen Option : 2

Q.17 A sentence with an underlined word is given below. Fi word which is opposite in
meaning to the underlined word from the given opti

X 4. In Egypt, Arabic is spoken.

New books are displayed in a prominent positi les at the front of the store.
Ans ( 1. Unimportant

x 2. Eminent e&
L 4

x 3. Important

x 4. Leading

Question ID : 149986528
Status : Answered
Chosen Option : 2
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Q.18 In the question given below, four sentences are given which may or may not be
grammatically correct. From the given options, choose the grammatically correct sentence.

A. The members-only zone on the top of the ship has its own luxurious accommodations
including suite, private lounges and dining options.

B. The members-only zone on the top of the ship has its own luxuries accommodations
including suites, private lounges and dining options.

C. The members-only zone along the top of the ship has its own luxuries accommodations
including suites, private lounges and dining options.

D. The members-only zone on the top of the ship has its own luxurious accommodations
including suites, private lounges and dining options.

Ans X1 A
X 2.8
V30D
X ac

Chosen Option:

QuestionID: 1 86543
Stat"\ red

Q.19 A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word. z

Two of the soldiers were killed and the rest were captured. o

Ans X 1. Forgiven
x 2. Liberated o
J 3. Arrested o
75 4.Rehabilitated o@
%‘ Question ID : 149986518
b Status : Answered

Chosen Option : 3

Q.20 Choose the best preposition in the given s .

This work of art is worthy

Ans  of 1 of
x 2. upon
75 3. for
x 4.10

praise.
2

Question ID : 149986497
Status : Answered
Chosen Option : 4
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Q.21 In the question below, sentence have been given in Direct/Indirect speech. From the given
alternatives, choose the one which best expresses the given sentence in Indirect/Direct
speech.

He said to me, “You are a cheat.”

Ans X" 1. He said to me that you were a cheat.
x 2. He told to me that | was the cheat.
x 3. He said to me that | was a cheat

J 4. He told me that | was a cheat.

Question ID : 149986512
Status : Answered
Chosen Option : 4

Q.22 In the question below, sentence have been given in Direct/Indirect speech. From the given
alternatives, choose the one which best expresses the given sentence in Indirect/Direct
speech. ’\

He said, "Will you be there on Monday"? Q
Ans x 1. He said that he will be there on Monday. e
J 2. He asked if he would be there on Monday. 09
x 3. He asked that he will be there on Monday. o

x 4. He said that he would be there on Monday. o

Question ID : 149986508
Status : Answered

o Chosen Option : 2

Q.23 In the following question, a sentence has been give{ e/Passive Voice. Out of the

four alternatives suggested, select the one which b ses the same sentence in
Passive/Active Voice?

Ans x 1. Elders are to be respected.

We should respect elders. &o
x 2. Elders should have respec ed‘a
x 3. Elders have been res

J 4. Elders should b cted by us.

Question ID : 149986517
Status : Answered
Chosen Option : 4

Q.24 Choose the word opposite in meaning to the given word from among the four alternatives.

Predominant
Ans x 1. Extreme

x 2. Satisfactory
X 3. Progress
o 4. subsidiary

Question ID : 149986530
Status : Not Answered
Chosen Option : --
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Q.25 In the question given below, four sentences are given which may or may not be
grammatically correct. From the given options, choose the grammatically correct sentence.

A. Family courts clearly need reforms in procedural practices to make sure cases don’t drag
on interminably.

B. The legal system today does not allow for an easy parting of ways.

C. The judiciary is after all nothing more than a reflection of our society.

D. Times are changing, and people now know that life does not begin and end with
marriage.

Ans X1-C

« 2. All are correct

K 3A
X 4B

Question ID : 149986544
Status : Answered
Chosen Option : 3

_
Q.26 Choose the most suitable alternative and mark it as your answer.

Any and all the logs can be used ____ firewood.

Ans X 1. like
«2. as

x 3. in the form of

X 4. for

Question ID : 149986506
Status : Answered
Chosen Option : 4

Q.27 In the question given below, four sentences are given which may or may not be
grammatically correct. From the given options, choose the grammatically correct sentence.

A. Literature often portrayed children as one-dimensional, but children are as complex as
;t.jlliliﬁ'rature often portrays children as'one-dimensional, but children are as complex as
(a;.hll.li:::'ature often portrays children as one-dimensional, but children are so complex as
g:ti:;ature often portrays children as one-dimensional, but children are more complex as
adults.

As  of 15
X 2.D
X3¢
K 4A

Question ID : 149986541
Status : Answered
Chosen Option: 1
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Q.28 Fill in the blanks with the suitable option.

We cut the scorched part from the fallen apple ate the unripe flesh remaining.
Ans X" 1 until

W 2 And
75 3. Yet
x 4. Lest

Question ID : 149986538
Status : Answered
Chosen Option : 2

Q.29 Select the most appropriate meaning of the given idiom//phrase.

Get the show on the road

Ans « 1. putting up a plan or idea into action @, o

x 2. contained in a list of members, employees, or clients

x 3. feeling uncomfortable in unfamiliar surroundings Ee

x 4. doing something with a lot of energy and enthusiasm

Question ID : 149986534

o Status : Answered
Chosen Option: 1

Q.30 Choose the most suitable alternative and mark it as your answer.

She is intelligent, self-motivated and
Ans X" 1. hardly working

' 8{&
« 2. hardworking
O

x 3. loves hard work

x 4. loves working hard &

‘ Question ID : 149986505
Status : Answered
Chosen Option : 2

Q.31 Choose the best p ition in the given sentence.

Kabir was born

Ans &1 on
x 2.10
W 3. of
x 4. from

Question ID : 149986499
Status : Answered
Chosen Option : 4
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Q.32 Fill the most appropriate blank.

He placed the glass on the edge of the table. It fell to the floor.
Ans x 1. carefully

“ 2. carelessly
X 3. quickly

x 4. carefreely

Question ID : 149986494
Status : Answered
Chosen Option: 2

Q.33 Choose the most suitable alternative and mark it as your answer.
____ | go with you?
Ans X 1. will P o
x 2. should ’\
W 3. shall e
x 4. may e

Question ID : 149986501

o Status : Answered
Chosen Option : 4

. From the given
e in Indirect/Direct

Q.34 In the question below, sentence have been given in Direct/Indire
alternatives, choose the one which best expresses the given s
speech.

Reema said, ‘My parents are arriving tomorrow’.
Ans J 1. Reema said that her parents were arriving ét Y.

x 2. Reema said that her parents was irri@worrow.

x 3. Reema said that her parents aé the next day.

X 4. Reema said that her parents hz rrived the next day.

Question ID : 149986510
Status : Answered
Chosen Option : 1

Q.35 In the question below, sentence have been given in Direct/Indirect speech. From the given
alternatives, choose the one which best expresses the given sentence in Indirect/Direct
speech.

| said to my friend, “Don’t pluck the flowers”.

Ans x 1. | ordered my friend that do not pluck the flowers.
X 2. 1 told my friend don't pluck the flowers.
x 3. | ordered my friend not to plucked the flowers.

J 4.1 ordered my friend not to pluck the flowers.

Question ID : 149986511
Status : Answered
Chosen Option : 4
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Q.36 In the question given below, four sentences are given which may or may not be
grammatically correct. From the given options, choose the grammatically correct sentence.

A. Even the insights on philosophical topics like silence is not self-indulgent.

B. A driver’s license is a small piece of paper that says one can drive on a country’s roads.
C. No summer is complete without stories of the fragile power generation situation and
people dying of heat strokes.

D. Bad roads hamper the smooth flow of traffic which not only increases the time spent on
the road but decreases the quality of life.

Ans X" 1D
W2c
/< 3.8
X 4A

Question ID : 149986542
Status : Answered

Chosen 0pti@$
00

Q.37 In the following question, a sentence has been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one which best expresses the same sentence in
Passive/Active Voice?

The noise of the traffic disturbed us. 0

Ans X" 1. The traffic disturbed us by the noise. o
J 2. We were disturbed by the noise of the traffic. o
x 3. We remained disturbed by the noise of the traffic. 0

x 4. We disturbed due to the noise of the traffic. e

&: Question ID : 149986513

Status : Answered
Q.38 Fill in the blanks with the suitable option. &&

Chosen Option: 2
o_____ aplanto protect the Amazon

The meeting, announced on Tuesda
rainforest.

¥ W
Ans X" 1. Draw back 4
x 2. Draw down
x 3. Draw out

J 4. Draw u

Question ID : 149986539
Status : Answered
Chosen Option : 2
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Q.39 In the given question select the word that has the similar or closest meaning to the given
word.

Incipient
Ans X" 1. Hermit

X 2. Terminal
( 3. Introductory
x 4. Prodigal

Question ID : 149986521
Status : Not Answered
Chosen Option : --

Q.40 Select the most appropriate meaning of the given idiom/phrase

Hope against hope o
Ans x 1. Think wishfully from time to time 0\
( 2. Nurture an impossible hope e‘
x 3. Hoped with good reason e

x 4. Pretend to hope 0
oe Question ID : 149986531

Status : Answered
Chosen Option : 1

Q.41 Select the most appropriate meaning of the given idiom/phraso

Bark up the wrong tree &
Ans X" 1 to stay in jail
x 2. give trouble b
“ 3. Accuse the wrong person &0

x 4. beat up completely

Question ID : 149986532
Status : Answered
Chosen Option: 3
Q.42 In the following , out of the four alternatives, select the alternative which is the best

substitute of the phrase.

One who collects coins
Ans X" 1. Bibliophile
x 2. Equestrian
« 3. Numismatist

x 4. Chauffeur

Question ID : 149986523
Status : Answered
Chosen Option: 3
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Q.43 Choose the best preposition in the given sentence.

He acceded my proposal.

Ans X" 1 by
q 2.t0
75 3. with
x 4. around

Question ID : 149986498
Status : Answered
Chosen Option : 2

Q.44 Choose the most suitable alternative and mark it as your answer.

___his success be complete!

Ans X 1. will P o
X 2. might ‘~

75 3.should e

( 4. may a

Question ID : 149986500

o Status : Answered
Chosen Option : 4

Q.45 Fill the most appropriate blank.

Run downstairs , before it is too late!

o
e )
O

x 3. fastly

x 4. randomly

L Question ID : 149986492
Status : Answered
Chosen Option: 3

Q.46 A sentence has be| ken into four parts with an error in one of the parts. Identify the
part that has an here is no error; mark your answer as ‘No error'.

During my education in the UK/l came across with/many life-changing experiences/No error

Ans X" 1. During my education in the UK

x 2. No error

( 3. | came across with

x 4. many life-changing experiences

Question ID : 149986507
Status : Answered
Chosen Option: 3
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Q.47 Select the most appropriate meaning of the given idiom//phrase.

Get (one’s) ducks in a row

Ans x 1. Doing something that will cause your own failure
( 2. Getting your things well organized
X 3. Becoming very rich while starting very poor

x 4. Succeeding in your enterprise

Question ID : 149986533
Status : Answered
Chosen Option : 4

Q.48 Fill in the blanks with the suitable option.

The face of oldest species that unambiguously sits on the human evolutionary tree
has been revealed for the first time by the discovery of a 3.8 million-year-old skull in
Ethiopia. O\

Ans X" 1 An
W 2 The E
x 3. Our

x4. On

Question ID : 149986537
Status : Answered
Chosen Option : 2

Q.49 In the following question, out of the four alternatives, selet‘ native which is the best

substitute of the phrase.

Falsification of documents b
Ans X" 1 fugitive 0
J 2. forgery &

x 3. franchise

x 4. fratricide ‘

Question ID : 149986524
Status : Answered
Chosen Option : 2

Q.50 Choose the word opposite in meaning to the given word from among the four alternatives.

Candid
Ans ( 1. Secretive

x 2. Obscure

/< 3.0dd

x 4. Outspoken

Question ID : 149986529
Status : Answered
Chosen Option : 1
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Q.51 Choose the most suitable alternative and mark it as your answer.

Her hobbies are to read, to play chess and small-talk.
Ans x 1. of making

J 2. to make
X 3. makes
x 4. making

Question ID : 149986504
Status : Answered
Chosen Option : 2

Q.52 In the question given below, four sentences are given which may or may not be
grammatically correct. From the given options, choose the grammatically correct sentence.

A. There is no comprehensive data available on the incidence of sexual harassment in

Indian universities.  /

B. For age, we have given primacy to the legal principle of innocent until proven guilty. \
C. There has been an absence of consistent in the arguments against social media as ‘
vigilantism. e

D. The secrecy attached to the list has given vent to the anger of women who has suffered
harassment.
Ans  of 1A 0
X 2.0
X 3B o
X ac E
&o Question ID : 149986540

Status : Answered
Chosen Option : 1

Q.53 A sentence with an underlined word is given bel the word which is opposite in
meaning to the underlined word from the gi ns.

The fine weather has been a blessing f rs.
Ans 1. Curse
.J X
x 2. Boon

x 3. Benediction

x 4. Favour

Question ID : 149986527
Status : Answered
Chosen Option : 1
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Q.54 In the statement below, a part of the sentence is highlighted. Out of the four options,
choose the one which best replaces the highlighted phrase.

The District Collector gave up the prizes to the winners at the end of the function.
Ans X" 1. gave back

J 2. gave away
x 3. give up

x 4. no improvement

Question ID : 149986535
Status : Answered
Chosen Option: 2

Q.55 Choose the most suitable alternative and mark it as your answer.
you see him, give him a message.
. L/
Ans x 1. could \

x . wou 4
J z shotfd ee

X4. must
o Question ID : 149986503
Status : Answered
Chosen Option : 1

Q.56 In the question below, sentence have been given in D|rect/Ind|r eech. From the given
alternatives, choose the one which best expresses the glv e in Indirect/Direct
speech.

| said to the teacher, "How many students are there ol?"

Ans x 1. | asked the teacher how many more stu ere there in the school.

x 2. | told the teacher that how many t ere there in the school.
x 3. I told the teacher that how ma ents were there in the school.

J 4. | asked the teacher how, y‘udents were there in the school.

Question ID : 149986509
Status : Answered
Chosen Option: 3

Q.57 Choose the word opposite in meaning to the given word from among the four alternatives.
Fend
Ans X" 1 Repulse
( 2. Encourage
x 3. Keep off
75 4. Hold off

Question ID : 149986526
Status : Answered
Chosen Option : 2
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Q.58 Choose the best preposition in the given sentence.

He travelled around the world

Ans X1 for
x 2. from
o 3in
x 4. under

eighty days.

Question ID : 149986496
Status : Answered
Chosen Option : 3

Q.59 Fill the most appropriate blank.

We understood that she couldn’t make it when we saw her mother crying on the

phone. @, o
Ans X" 1.inconsolable ‘

“ 2. inconsolably e‘
75 3.unconsolatory e
x 4. consolable 0
OE Question ID : 149986493
Status : Answered

Chosen Option : 2

Q.60 In the given question select the word that has the similar or cloeneaning to the given
word.

Invisible
Ans X" 1. Noticeable b
“ 2. Hidden | 0

x 3. Observable
& Question ID : 149986519
Status : Answered
g Chosen Option : 2

x 4. Perceptible
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